A program to compute the error integral between the original and a
aiven reduced model of the veast glycolysis.

function [output] = error_integral(varargin) %Simpson®s rule is used to
compute integral

y1l = varargin{l};
y2 = varargin{2};
15 = abs(y2(11,1)/y1(11,1)-1)+ abs(y2(11,5)/y1(11,5)-1)+

abs(y2(11,6)/y1(11,6)-1)+ abs(y2(11,10)/y1(11,10)-1)+
abs(y2(11,11)/y1(11,11)-1)+ abs(y2(11,12)/y1(11,12)-1)+
abs(y2(1010,1)/y1(1010,1)-1)+ abs(y2(1010,5)/y1(1010,5)-1)+
abs(y2(1010,6)/y1(1010,6)-1)+ abs(y2(1010,10)/y1(1010,10)-1)+
abs(y2(1010,11)/y1(1010,11)-1)+ abs(y2(1010,12)/y1(1010,12)-1);% note: index
of complexes corresponding to significant species [1,5,6,10,11,12]

for 1 = 1:499
J = 2*i+10;
k = 2*i+11;

15 = I5 + 4*(abs(y2(,1)/y1(J,1)-1)+ abs(y2(,5)/y1(j,5)-1)+
abs(y2(J ,6)/y1(,6)-1)+ abs(y2(j,10)/y1(j,10)-1)+ abs(y2(,11)/y1(,11)-1)+
abs(y2(J,12)/y1(j,12)-1)) + 2*(abs(y2(k,1)/y1(k,1)-1)+ abs(y2(k,5)/y1(k,5)-
1)+ abs(y2(k,6)/y1(k,6)-1)+ abs(y2(k,10)/y1l(k,10)-1)+ abs(y2(k,11)/y1(k,11)-
1)+ abs(y2(k,12)/y1(k,12)-1));
end
15 = 0.001*15/18;
output = 15;
return



